
 
Octobre 2021  Niveau de difficulté 

  

Calculs croisés 
 

Compléter la grille ci-dessous en effectuant les différentes 

opérations.   

 27 +  = 31     

   ÷  -    + 

  -  = 17    54 

 x  =  =  ÷  = 

   1   x 5 =  

 =      =   

 63  50 -  = 5  20 

   x  ÷    ÷ 

 1 +  =     2 

   =  =    = 

     15 -  =  
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Calculs croisés – solution 

 

 

  27 + 4 = 31    16 

   ÷  -    + 

 21 - 4 = 17  25  54 

 x  =  =  ÷  = 

 3  1  14 x 5 = 70 

 =      =   

 63  50 - 45 = 5  20 

   x  ÷    ÷ 

 1 + 2 = 3    2 

   =  =    = 

   100  15 - 5 = 10 
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